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A Quiz #30
Lessons 117-120

842+ 62="2
How many inches are in a yard?
Which digit is in the hundred thousands place in 314,7657

Paul worked from 1:00 p.m. until 7:00 p.m. at a grocery store. lfhe
gets paid $6.50 an hour, how much moncey did he carn that day?

34,554 + 76,386 ="
34 x 27="7

Figurcs that have the same size and shape arc

Ninc decadcs arc ycars.
Would a cat weigh about 6 grams or 6 kilograms?

The answer to a multiplication problem is called the

90,000 — 49,773 =7

A movic started at 1:15 and lasted | hour and 30 minutcs. At what
time did the movie end?

What is the median of 36, 17, 49, 58 and 627
How many quarters are in $1.757

John is 5 feet 7 inches tall. How many inches tall is he?

109

ps:/digital.simplesolutions.org/te/open.cfm/bid/MAT%204T/toc/2/topic/ A%20Quizzes%20%281-35%29 7/26/20



